
Parallel Gripper   Spare Parts List GP 100 H 
 
---- 

 Subject to technical modifications. 20.01.2015 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare parts     

      
Pos. Part-No. Quantity Description Type Flag

1
 

10 358825 1 housing complete GP 40  

10.1 247853 1 housing GP 40  

10.2 247854 1 piston GP 40  

10.3 247855 2 base cheek GP 100  

20 247856 1 cover GP 40  

30 247852 1 housing cover GP 40  

40 242834 2 non-return valve NWM1  

60 249206 1 quad-ring-seal QRAR4124 D 

70 249204 1 quad-ring-seal QRAR4228 D 

80 201823 1 o-ring 62,00 x 2,00 D 

90 200597 2 set screw M 10 x 10  DIN 914  

100 200481 2 hexagon socket countersunk head screw M 4 x 10  DIN 7991  

110 201354 2 retaining ring I20 x 1  DIN 472  

120 200127 2 hexagon socket head cap screw M 3 x 8  DIN 912  

130 200155 4 hexagon socket head cap screw M 5 x 60  DIN 912  

140 200975 5 securing spring washer S5  

150 201663 1 o-ring 10,00 x 1,50 D 

160 219664 5 sealing stopper expander D3  

170 221394 1 hexagon socket head cap screw M 5 x 22  DIN 912  

    spare parts sets / accessories   

      
Pos. Part-No. Quantity Description Type  

 366250 1 seal kit GP 100  

50 279065 1 limit switch set T12  
 

 

 

1 D = included with seal kit



Parallel Gripper   Spare Parts Drawing GP 100 H   
 
---- 

 Subject to technical modifications. 20.01.2015 
 

TÜNKERS
®
 Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 
 
 
 
 
 

 


